# REVISIT NONLINEAR DIFFERENTIAL EQUATIONS <br> ASSOCIATED WITH EULERIAN POLYNOMIALS 

Dae San Kim and Taekyun Kim

Abstract. In this paper, we present nonlinear differential equations arising from the generating function of the Eulerian polynomials. In addition, we give explicit formulae for the Eulerian polynomials which are derived from our nonlinear differential equations.

## 1. Introduction

For $N \in \mathbb{N}$, the generalized harmonic numbers are defined as

$$
\begin{equation*}
H_{N, 1}=H_{N}=1+\frac{1}{2}+\cdots+\frac{1}{N} \tag{1.1}
\end{equation*}
$$

and

$$
\begin{equation*}
H_{N, j}=\frac{H_{N-1, j-1}}{N}+\frac{H_{N-2, j-1}}{N-1}+\cdots+\frac{H_{j-1, j-1}}{j}, \quad(2 \leq j \leq N) \quad(\text { see }[10]) . \tag{1.2}
\end{equation*}
$$

It is well known that the Eulerian polynomials $A_{n}(t)$ are defined by the following generating function

$$
\begin{equation*}
\frac{1-t}{e^{x(t-1)}-t}=e^{A(t) x}=\sum_{n=0}^{\infty} A_{n}(t) \frac{x^{n}}{n!}, \quad(\text { see }[11]) \tag{1.3}
\end{equation*}
$$

with the usual convention about replacing $A^{n}(t)$ by $A_{n}(t)$.
Thus, by (1.3), we get

$$
\begin{equation*}
A_{0}(t)=1, \quad A_{n}(t)=\sum_{k=0}^{n-1}\binom{n}{k} A_{k}(t)(t-1)^{n-1-k}, \quad(n \geq 1), \tag{1.4}
\end{equation*}
$$

and

$$
(A(t)+(t-1))^{n}-t A_{n}(t)= \begin{cases}1-t & \text { if } n=0  \tag{1.5}\\ 0 & \text { if } n>0\end{cases}
$$

Received March 31, 2016; Revised November 22, 2016; Accepted February 20, 2017.
2010 Mathematics Subject Classification. 05A19, 11B83, 34A34.
Key words and phrases. Eulerian polynomials, higher-order Eulerian polynomials, nonlinear differential equation.

From (1.3), (1.4) and (1.5), we note that
(1.6) $\sum_{i=1}^{m} i^{n} t^{i}=\sum_{l=1}^{n}(-1)^{n+l}\binom{n}{l} \frac{t^{m+1} A_{n-l}(t)}{(t-1)^{n-l+1}} m^{l}+(-1)^{n} \frac{t\left(t^{m}-1\right)}{(t-1)^{n+1}} A_{n}(t)$,
where $m \geq 1$ and $n \geq 0$ (see [11]).
In [2], Kim and Bayad considered the following nonlinear differential equations related to Apostol-Bernoulli-Euler numbers:

$$
\begin{equation*}
(N-1)!y^{N}=\sum_{k=1}^{N} a_{k}(N) y^{(k-1)}, \quad(N \in \mathbb{N}) \tag{1.7}
\end{equation*}
$$

where $y^{(k)}=\left(\frac{d}{d t}\right)^{k} y(t)$.
Recently, Kim and Kim studied the following nonlinear differential equations arising from the generating function of degenerate Euler and Bernoulli numbers. For example, with $N \in \mathbb{N}$,

$$
\begin{equation*}
F^{(N)}=\frac{(-1)^{N}}{(1+\lambda t)^{N}} \sum_{i=1}^{N+1} a_{i}(N, \lambda) F^{i}, \quad(\text { see }[14]) \tag{1.8}
\end{equation*}
$$

where $F=F(t)=\frac{1}{(1+\lambda t)^{\frac{1}{\lambda}}-1}, F^{(k)}=\left(\frac{d}{d t}\right)^{k} F(t)$, and

$$
\begin{aligned}
& a_{i}(N, \lambda) \\
= & (i-1)!\lambda^{N-i+1} \sum_{m_{i-1}=0}^{N-i+1} \sum_{m_{i-2}=0}^{N-m_{i-1}-i+1} \cdots \sum_{m_{1}=0}^{N-m_{i-1}-\cdots-m_{2}-i+1}\left(N-m_{i-1}+\frac{i}{\lambda}\right)_{m_{i-1}} \\
& \times\left(N-m_{i-1}-m_{i-2}-1+\frac{i-1}{\lambda}\right)_{m_{i-2}} \cdots\left(N-m_{i-1}-\cdots-m_{1}-i+2+\frac{2}{\lambda}\right)_{m_{1}} \\
& \times\left(\frac{1}{\lambda}\right)_{N-m_{i-1}-m_{i-2}-\cdots-m_{1}-i+1}
\end{aligned}
$$

We also refer to $[1-19]$ for some related results in the area of the Eulerian polynomials. In this paper, we revisit nonlinear differential equations arising from the generating function of the Eulerian polynomials. In addition, we give explicit formulas for the Eulerian polynomials which are derived from our nonlinear differential equations.

## 2. The statement of main results

Let

$$
\begin{equation*}
F=F(x, t)=\frac{1}{e^{x(t-1)}-t}, \quad(t \neq 1) . \tag{2.1}
\end{equation*}
$$

All differentiations in this paper are with respect to $x$, while $t$ is being fixed. That is,

$$
\begin{equation*}
F^{(k)}=\left(\frac{d}{d x}\right)^{k} F(x, t), \quad(k \in \mathbb{N}) \tag{2.2}
\end{equation*}
$$

From (2.1), we note that

$$
\begin{equation*}
F^{(1)}=\frac{d}{d x} F(x, t)=(1-t)\left(F+t F^{2}\right) . \tag{2.3}
\end{equation*}
$$

Thus, by (2.3), we get

$$
\begin{equation*}
t(1-t) F^{2}=F^{(1)}-(1-t) F . \tag{2.4}
\end{equation*}
$$

From (2.4), we can derive the following equations:

$$
\begin{equation*}
2!t^{2}(1-t)^{2} F^{3}=F^{(2)}-3(1-t) F^{(1)}+2!(1-t)^{2} F \tag{2.5}
\end{equation*}
$$

and
(2.6) $3!t^{3}(1-t)^{3} F^{4}=-3!(1-t)^{3} F+11(1-t)^{2} F^{(1)}-6(1-t) F^{(2)}+F^{(3)}$.

Continuing this process, we are led to put

$$
\begin{equation*}
N!t^{N}(1-t)^{N} F^{N+1}=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i)}, \tag{2.7}
\end{equation*}
$$

where $N=0,1,2, \ldots$.
Thus, by (2.7), we get

$$
\begin{equation*}
(N+1)!t^{N}(1-t)^{N} F^{N} F^{(1)}=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i+1)} . \tag{2.8}
\end{equation*}
$$

From (2.3) and (2.8), we have

$$
\begin{equation*}
(N+1)!t^{N}(1-t)^{N+1} F^{N}\left(F+t F^{2}\right)=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i+1)} \tag{2.9}
\end{equation*}
$$

Thus, by (2.7) and (2.9), we get

$$
\begin{align*}
& (N+1)!t^{N+1}(1-t)^{N+1} F^{N+2}  \tag{2.10}\\
= & -(N+1)!t^{N}(1-t)^{N+1} F^{N+1}+\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i+1)} \\
= & -(N+1)(1-t) \sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i)}+\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i+1)} \\
= & -(N+1) \sum_{i=0}^{N} a_{i}(N)(1-t)^{N+1-i} F^{(i)}+\sum_{i=1}^{N+1} a_{i-1}(N)(1-t)^{N+1-i} F^{(i)} .
\end{align*}
$$

On the other hand, by replacing $N$ by $N+1$ in (2.7), we get

$$
\begin{equation*}
(N+1)!t^{N+1}(1-t)^{N+1} F^{N+2}=\sum_{i=0}^{N+1} a_{i}(N+1)(1-t)^{N+1-i} F^{(i)} \tag{2.11}
\end{equation*}
$$

Comparing the coefficients on both sides of (2.10) and (2.11), we have

$$
\begin{equation*}
a_{0}(N+1)=-(N+1) a_{0}(N), \quad a_{N+1}(N+1)=a_{N}(N), \tag{2.12}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{i}(N+1)=-(N+1) a_{i}(N)+a_{i-1}(N), \quad(1 \leq i \leq N) \tag{2.13}
\end{equation*}
$$

Moreover, from (2.7) for $N=0$, we obtain

$$
\begin{equation*}
a_{0}(0)=1 . \tag{2.14}
\end{equation*}
$$

Also, comparing (2.4) with (2.7) for $N=1$, we get

$$
\begin{equation*}
a_{1}(1)=1, \quad a_{0}(1)=-1 . \tag{2.15}
\end{equation*}
$$

By (2.12), we easily get

$$
\begin{align*}
& a_{0}(N+1)=(-1)^{N+1}(N+1)!  \tag{2.16}\\
& a_{N+1}(N+1)=a_{N}(N)=\cdots=a_{1}(1)=a_{0}(0)=1 .
\end{align*}
$$

Now, we observe that the matrix $\left(a_{i}(j)\right)_{0 \leq i, j \leq N}$ is given by

|  |
| :--- |
| 0 |
| 1 |
| 2 |
| 3 |\(\left[\begin{array}{cccccc}0 \& 1 \& 2 \& 3 \& \& N <br>

1 \& -1! \& (-1)^{2} 2! \& (-1)^{3} 3! \& \cdots \& (-1)^{N} N! <br>
\& 1 \& \& \& \& <br>
<br>
\& \& \& \& 1 \& <br>
<br>
\& \& \& \& \& \ddots\end{array}\right]\).

For $i=1$ in (2.13), we have

$$
\begin{align*}
& a_{1}(N+1)  \tag{2.17}\\
= & a_{0}(N)-(N+1) a_{1}(N) \\
= & a_{0}(N)-(N+1)\left(a_{0}(N-1)-N a_{1}(N-1)\right) \\
= & a_{0}(N)-(N+1) a_{0}(N-1)+(-1)^{2}(N+1) N a_{1}(N-1) \\
= & a_{0}(N)-(N+1) a_{0}(N-1) \\
& +(-1)^{2}(N+1) N\left(a_{0}(N-2)-(N-1) a_{1}(N-2)\right)
\end{align*}
$$

$$
\begin{aligned}
& =\sum_{k=0}^{N-1}(-1)^{k}(N+1)_{k} a_{0}(N-k)+(-1)^{N}(N+1)_{N} a_{1}(1) \\
& =\sum_{k=0}^{N}(-1)^{k}(N+1)_{k} a_{0}(N-k),
\end{aligned}
$$

where $(x)_{n}=x(x-1) \cdots(x-n+1),(n \geq 1)$, and $(x)_{0}=1$.
Let $i=2$ in (2.13). Then, we see that

$$
\begin{align*}
& a_{2}(N+1)  \tag{2.18}\\
= & a_{1}(N)-(N+1) a_{2}(N) \\
= & a_{1}(N)-(N+1)\left(a_{1}(N-1)-N a_{2}(N-1)\right) \\
= & a_{1}(N)-(N+1) a_{1}(N-1)+(-1)^{2}(N+1) N a_{2}(N-1) \\
= & a_{1}(N)-(N+1) a_{1}(N-1) \\
& +(-1)^{2}(N+1) N\left(a_{1}(N-2)-(N-1) a_{2}(N-2)\right) \\
& \vdots \\
= & \sum_{k=0}^{N-2}(-1)^{k}(N+1)_{k} a_{1}(N-k)+(-1)^{N-1}(N+1)_{N-1} a_{2}(2) \\
= & \sum_{k=0}^{N-1}(-1)^{k}(N+1)_{k} a_{1}(N-k) .
\end{align*}
$$

For $i=3$ in (2.13), it is not difficult to show that

$$
\begin{equation*}
a_{3}(N+1)=\sum_{k=0}^{N-2}(-1)^{k}(N+1)_{k} a_{2}(N-k) . \tag{2.19}
\end{equation*}
$$

So, we can deduce that, for $1 \leq i \leq N$,

$$
\begin{equation*}
a_{i}(N+1)=\sum_{k=0}^{N+1-i}(-1)^{k}(N+1)_{k} a_{i-1}(N-k) . \tag{2.20}
\end{equation*}
$$

To find explicit expressions for $a_{i}(N+1)$, we recall the definition for the generalized harmonic numbers $H_{N, i}$, defined for all $N$ with $N \geq i$ for each $i$ with $1 \leq i \leq N$ :

$$
\begin{equation*}
H_{N, 1}=\frac{1}{N}+\frac{1}{N-1}+\cdots+\frac{1}{1}, \tag{2.21}
\end{equation*}
$$

and

$$
\begin{equation*}
H_{N, i}=\frac{H_{N-1, i-1}}{N}+\frac{H_{N-2, i-1}}{N-1}+\cdots+\frac{H_{i-1, i-1}}{i}, \quad(2 \leq i \leq N) . \tag{2.22}
\end{equation*}
$$

From (2.16)-(2.19), we have

$$
\begin{align*}
a_{1}(N+1) & =\sum_{k=0}^{N}(-1)^{k}(N+1)_{k} a_{0}(N-k)  \tag{2.23}\\
& =\sum_{k=0}^{N}(-1)^{k}(N+1)_{k}(-1)^{N-k}(N-k)! \\
& =(-1)^{N}(N+1)!\sum_{k=0}^{N} \frac{1}{N-k+1} \\
& =(-1)^{N}(N+1)!\left(\frac{1}{N+1}+\frac{1}{N}+\cdots+\frac{1}{1}\right) \\
& =(-1)^{N}(N+1)!H_{N+1,1}, \\
a_{2}(N+1)= & \sum_{k=0}^{N-1}(-1)^{k}(N+1)_{k} a_{1}(N-k)  \tag{2.24}\\
= & \sum_{k=0}^{N-1}(-1)^{k}(N+1)_{k}(-1)^{N-k-1}(N-k)!H_{N-k, 1} \\
= & (-1)^{N-1}(N+1)!\sum_{k=0}^{N-1} \frac{H_{N-k, 1}}{N-k+1} \\
= & (-1)^{N-1}(N+1)!\left(\frac{H_{N, 1}}{N+1}+\frac{H_{N-1,1}}{N}+\cdots+\frac{H_{1,1}}{2}\right) \\
= & (-1)^{N-1}(N+1)!H_{N+1,2},
\end{align*}
$$

and

$$
\begin{align*}
a_{3}(N+1) & =\sum_{k=0}^{N-2}(-1)^{k}(N+1)_{k} a_{2}(N-k)  \tag{2.25}\\
& =(-1)^{N-2} \sum_{k=0}^{N-2}(N+1)_{k}(N-k)!H_{N-k, 2} \\
& =(-1)^{N-2}(N+1)!\sum_{k=0}^{N-2} \frac{H_{N-k, 2}}{N-k+1} \\
& =(-1)^{N-2}(N+1)!\left(\frac{H_{N, 2}}{N+1}+\frac{H_{N-1,2}}{N}+\cdots+\frac{H_{2,2}}{3}\right) \\
& =(-1)^{N-2}(N+1)!H_{N+1,3} .
\end{align*}
$$

Thus, we can deduce that, for $1 \leq i \leq N$,

$$
\begin{equation*}
a_{i}(N+1)=(-1)^{N-i+1}(N+1)!H_{N+1, i} \tag{2.26}
\end{equation*}
$$

Therefore, we obtain the following theorem.
Theorem 1. For $N \in \mathbb{N}$, the nonlinear differential equations

$$
N!t^{N}(1-t)^{N} F^{N+1}=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i)}
$$

have a solution $F=F(x, t)=\frac{1}{e^{x(t-1)}-t},(t \neq 1)$, where

$$
a_{0}(N)=(-1)^{N} N!, a_{i}(N)=(-1)^{N-i} N!H_{N, i}, \quad(1 \leq i \leq N)
$$

For $r \in \mathbb{N}$, the higher-order Eulerian polynomials are defined by the generating function

$$
\begin{equation*}
\left(\frac{1-t}{e^{x(t-1)}-t}\right)^{r}=\sum_{n=0}^{\infty} A_{n}^{(r)}(t) \frac{x^{n}}{n!} . \tag{2.27}
\end{equation*}
$$

From (2.1) and (2.27), we have

$$
\begin{align*}
N!t^{N}(1-t)^{N} F^{N+1} & =N!t^{N}(1-t)^{N}\left(\frac{1}{e^{x(t-1)}-t}\right)^{N+1}  \tag{2.28}\\
& =N!t^{N}(1-t)^{-1}\left(\frac{1-t}{e^{x(t-1)}-t}\right)^{N+1} \\
& =N!t^{N}(1-t)^{-1} \sum_{k=0}^{\infty} A_{k}^{(N+1)}(t) \frac{x^{k}}{k!} .
\end{align*}
$$

We observe that

$$
\begin{align*}
& \sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} F^{(i)}  \tag{2.29}\\
= & \sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i}\left(\frac{1}{e^{x(t-1)}-t}\right)^{(i)} \\
= & \sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i-1}\left(\frac{1-t}{e^{x(t-1)}-t}\right)^{(i)} \\
= & \sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i-1} \sum_{k=0}^{\infty} A_{k+i}(t) \frac{x^{k}}{k!} .
\end{align*}
$$

From Theorem 1, (2.28) and (2.29), we have

$$
\begin{equation*}
N!t^{N}(1-t)^{-1} A_{k}^{(N+1)}(t)=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i-1} A_{k+i}(t) \tag{2.30}
\end{equation*}
$$

Therefore, by (2.30), we obtain the following theorem.

Theorem 2. For $N, k=0,1,2, \ldots, N$, we have

$$
N!t^{N} A_{k}^{(N+1)}(t)=\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i} A_{k+i}(t),
$$

where $a_{0}(N)=(-1)^{N} N!, a_{i}(N)=(-1)^{N-i} N!H_{N, i}, \quad(1 \leq i \leq N)$.
Recall here that

$$
\begin{equation*}
\frac{A_{n}(t)}{(1-t)^{n+1}}=\sum_{j=0}^{\infty} t^{j}(j+1)^{n}, \quad(n \geq 0) \tag{2.31}
\end{equation*}
$$

By applying (2.31) to Theorem 2, we have

$$
\begin{align*}
N!t^{N} A_{k}^{(N+1)}(t) & =\sum_{i=0}^{N} a_{i}(N)(1-t)^{N-i}(1-t)^{k+i+1} \frac{A_{k+i}(t)}{(1-t)^{k+i+1}}  \tag{2.32}\\
& =\sum_{i=0}^{N} a_{i}(N)(1-t)^{N+k+1} \sum_{j=0}^{\infty} t^{j}(j+1)^{k+i} \\
& =\sum_{i=0}^{N} a_{i}(N) \sum_{l=0}^{\infty}(-1)^{l}\binom{N+k+1}{l} t^{l} \sum_{j=0}^{\infty} t^{j}(j+1)^{k+i} \\
& =\sum_{i=0}^{N} a_{i}(N) \sum_{m=0}^{\infty}\left(\sum_{l=0}^{m}(-1)^{l}\binom{N+k+1}{l}(m-l+1)^{k+i}\right) t^{m} \\
& =\sum_{m=0}^{\infty}\left(\sum_{i=0}^{N} \sum_{l=0}^{m}(-1)^{l}\binom{N+k+1}{l}(m-l+1)^{k+i} a_{i}(N)\right) t^{m} .
\end{align*}
$$

Comparing the degrees on both sides of (2.32) gives the following theorem.

## Theorem 3.

(1) For $k \geq 1$, we have

$$
\begin{aligned}
& N!t^{N} A_{k}^{(N+1)}(t)=\sum_{m=0}^{k+N-1}\left(\sum_{i=0}^{N} \sum_{l=0}^{m}(-1)^{l}\binom{N+k+1}{l}(m-l+1)^{k+i} a_{i}(N)\right) t^{m} \\
& \quad \text { and } \\
& \sum_{i=0}^{N} \sum_{l=0}^{m}(-1)^{l}\binom{N+k+1}{l}(m-l+1)^{k+i} a_{i}(N)=0 \quad \text { for all } m \geq k+N
\end{aligned}
$$

(2) For $k=0$, we have

$$
N!t^{N} A_{0}^{(N+1)}(t)=\sum_{m=0}^{N} \sum_{i=0}^{N} \sum_{l=0}^{m}(-1)^{l}\binom{N+1}{l}(m-l+1)^{i} a_{i}(N) t^{m}
$$

$$
\begin{gathered}
\quad \begin{array}{c}
\text { and } \\
N
\end{array} \sum_{i=0}^{m}(-1)^{l}\binom{N+1}{l}(m-l+1)^{i} a_{i}(N)=0 \quad \text { for all } m \geq N+1, \\
\text { where } a_{0}(N)=(-1)^{N} N!, a_{i}(N)=(-1)^{N-i} N!H_{N, i}, \quad(1 \leq i \leq N) .
\end{gathered}
$$

Acknowledgments. The authors would like to thank the referee for his valuable and detailed suggestions.

## References

[1] P. Barry, General Eulerian polynomials as moments using exponential Riordan arrays, J. Integer Seq. 16 (2013), no. 9, Article 13.9.6, 15 pp.
[2] A. Bayad and T. Kim, Higher recurrences for Apostol-Bernoulli-Euler numbers, Russ. J. Math. Phys. 19 (2012), no. 1, 1-10.
[3] L. Carlitz, A degenerate Staudt-Clausen theorem, Arch. Math. (Basel) 7 (1956), 28-33.
[4] , Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51-88.
[5] M. Domokos, Eulerian polynomial identities and algebras satisfying a standard identity, J. Algebra 169 (1994), no. 3, 913-928.
[6] Y. He and C. Wang, New symmetric identities involving the Eulerian polynomials, J. Comput. Anal. Appl. 17 (2014), no. 3, 498-504.
[7] F. Hirzebruch, Eulerian polynomials, Münster J. Math. 1 (2008), 9-14.
[8] D. Kang, J. Jeong, S.-J. Lee, and S.-H. Rim, A note on the Bernoulli polynomials arising from a non-linear differential equation, Proc. Jangjeon Math. Soc. 16 (2013), no. 1, 37-43.
[9] D. S. Kim and T. Kim, A note on $q$-Eulerian polynomials, Proc. Jangjeon Math. Soc. 16 (2013), no. 4, 445-450.
[10] __ Some identities for Bernoulli numbers of the second kind arising from a nonlinear differential equation, Bull. Korean Math. Soc. 52 (2015), no. 6, 2001-2010.
[11] D. S. Kim, T. Kim, W. J. Kim, and D. V. Dolgy, A note on Eulerian polynomials, Abstr. Appl. Anal. 2012 (2012), Art. ID 269640, 10 pp.
[12] D. S. Kim, T. Kim, Y.-H. Kim, and D. V. Dolgy, A note on Eulerian polynomials associated with Bernoulli and Euler numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 3, 379-389.
[13] D. S. Kim, T. Kim, and H. Y. Lee, p-adic $q$-integral on $\mathbb{Z}_{p}$ associated with Frobenius-type Eulerian polynomials and umbral calculus, Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 2, 243-251.
[14] T. Kim and D. S. Kim, Identities involving degenerate Euler numbers and polynomials arising from nonlinear differential equations, J. Nonlinear Sci. Appl. 9 (2016), no. 5, 2086-2098.
[15] , A note on nonlinear Changhee differential equations, Russ. J. Math. Phys. 23 (2016), no. 1, 88-92.
[16] T. Kim, D. S. Kim, S.-H. Rim, and D. V. Dolgy, Some identities of Frobenius-type Eulerian polynomials arising from umbral calculus, Int. J. Math. Anal. (Ruse) 7 (2013), no. 53-56, 2637-2644.
[17] T. Kim and T Mansour, Umbral calculus associated with Frobenius-type Eulerian polynomials, Russ. J. Math. Phys. 21 (2014), no. 4, 484-493.
[18] P. N. Rai and S. N. Singh, On the generalization of Eulerian polynomials, Bull. Calcutta Math. Soc. 72 (1980), no. 4, 229-232.
[19] S.-H. Rim, J. Jeong, and J.-W. Park, Some identities involving Euler polynomials arising from a non-linear differential equation, Kyungpook Math. J. 53 (2013), no. 4, 553-563.

Dae San Kim
Department of Mathematics
Sogang University
Seoul 121-742, Korea
E-mail address: dskim@sogang.ac.kr
Taekyun Kim
Department of Mathematics
Kwangwoon University
Seoul 139-701, Korea
E-mail address: tkkim@kw.ac.kr

